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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Wdrning: col ['PHC’, 'FVIPH ] is missing

30

40

50

60

70




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BYiE) | GEBATIK () | EBE (EA/#) | EREE(B/R) | XS ERE

08:35 306 150.0 2. 888 RS FiHAe08:35 KREFEF (KREERHSE)
09:15 306 150.0 2.888 [(Z=| FmHA@D9:15 kENFEF (RAfEEER)
10:10 306 150.0 2.888 [Z=| FhHA@10:10 kENFEF CRAMEEER)
10:55 306 150.0 2.888 [Z=| ThHA@10:55 kEIEF (KAHEEE)
11:40 306 150.0 2. 888 FA| FiHR@11:40 RHEF CKRAEZRS)
12:25 306 150.0 2.888 FA| FHH@12:25 KRHEF CRAZRS)
13:10 306 150.0 2.888 PA| FiHA@13:10 KRHEF CRAKZES)
13:55 306 150.0 2. 888 FA| FiHR@13:55 RHIEF (KAEZRS)
14:40 306 150.0 2. 888 FA| TiHR@14:40 KRHEF CRAZRS)
15:25 306 150.0 2.888 |/\FU| FhHPe15:25 RHEIERFE (RAERER)
16:25 306 150.0 2.888 |/\f| FmHRe16:25 KEFEHF (RABEREE)
23t+]3366.0 (11)%) 1650.0 3233 KEC: 2200, PH: 5.6

WEE S RiHKRPH 5.6, HTHRAENAZIFESEREPH, i5FohiAE
H#ERECE (1727.0 vs 5870.0) iH 5
RN S R REC 2200. 0
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P3-13

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 EFRE

06:15 283 150.0 2.888 [Z=| 1Ri&e06:15 Bzh (FEEESE)
07:15 283 150.0 2.888 |Z=| {Ri&e07:15 Bz (KREAEZHE)
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14:15 283 150.0 2.888 FA| 1BRi%e14:15 Bz (kAFERSE)
15:00 283 150.0 2.888 FA| 1Ri&@15:00 B3 (RAHEREE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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P3-13

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

07:05 283 150.0 2. 888 FE| 1BRi%@07:05 Bz (kBEREE)
08:05 283 150.0 2.888 FA| {RRi&@08:05 Bz (kA{EEEE)
12:00 283 150.0 2.888 | KF| f{Rige12:00 Bzl (KREAERSE)
13:25 283 150.0 2. 888 FE| 1Ri%@13:25 Bz (kAERSE)
14:10 283 150.0 2.888 FA| {Ri&e14:10 Bz CGRAEEEE)
14:55 283 150.0 2.888 FH| 1Ri%@14:55 Bzh (RAERRSE)
2411 1698.0 (6:%) 900. 0 EUGHKEC: 2200, PH: 5.6

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE142.0 ml.

[ REC 6867.0 K&, il FKECRE & IMIKER
1Bl RECE (1803.0 vs 6867.0) 33/
REVE IS RIFEREC 2200. 0

142.0), AlEEHT—R % XA HS
REGZ NS RBEPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%
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142.0), AlEEHT—R % XA HS

WREY S RFHRPH 5.6, HTHEARNAZEBEEEPH, BFahiAE
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FRBVFE NS KIFREC 2200.0
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